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1. There is a sign error in equations (11) and (12). The correct equations are:

h(θ, u) = E[ (δ − φ>u)∇2Vθ(s)u ], (11)

−1
2
∇J(θ) = E[(φ− γφ′)φ>w]− h(θ, w) = E[δφ]− γE[φ′φ>w]− h(θ, w). (12)

2. The last equation in the proof of theorem 1 (after the term “Finally, observe that:” ) has a
sign error. The correct equation is:

−E[(γφ′ − φ)φ>w] = E[(φ− γφ′)φ]> (E[φφ>]−1E[δφ])

= E[δφ]− E[γφ′φ>](E[φφ>]−1E[δφ]) = E[δφ]− E[γφ′φ>w].
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